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AN AN
THISE 58 68 78 8A 94 108 118 128 THI6E 28 38 it
45 1A
BA#BLE (kQ) [271599 241110 294863 258241 2337.17 2,139.39 253829 2521.32 3,026.03 2307.34 247381 274396  30,745.44
moEH H (/) 30 31 30 31 31 30 31 30 31 31 29 31 366
w A B % (B8) 22.0 19.5 24.0 225 24.0 22.0 225 215 235 19.0 20.5 225 263.5
1EYYEHLES (kQ) 90.53 77.78 98.29 83.30 75.39 71.31 81.88 84.04 97.61 74.43 85.30 88.51 84.00
WMABT1BRYEYMAE k)| 12345 12365 12286 11477  97.38 97.25 112.81  117.27 12877 12144 12067 121.95 116.68
BIEEREALLIER (%) A030 A693 A651 A048 A 425 A 1027 A 840 A 274 A 241 4.26 059 A 10.06 A415
FIEEEREAE (%) 88.64 89.67 89.50 91.27 89.52 88.93 90.59 90.40 87.62 91.55 88.86 90.92 89.76
IE B (E#E) p:l| TE {[E]

7’(?4*’2’?5 58-86| 68 7.2 6.9 71 7.0 71 7.2 7.2 74 7.0 6.9 7.2
n
H BREGE) 50k 50l E | 50RAE  s50RLE | 50LLE  50RAE so0RLE | 50LLE  50LLE | s0RAE | 50LLE | 50LLE
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g%ﬁgﬁgﬁ%ﬁ 10 <1.0 1.0 <1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
'“" “~

g;g?ﬁfw 10 <1.0 1.0 <1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
A = =1
1 '*ﬁ%ﬁ(%—ng/g) 10 <1.0 1.0 <1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
Bl ewor=
o EREAE
%1 (mg/e) 10 3.8 5.9 4.1 43 3.2 35 1.8 14 2.1 1.6 1.7 28
— BEHE(mg/R) 1 <0.02 0.05 0.05 0.03 0.05 0.05 0.05 0.06 0.05 0.04 0.03 0.06

L L 1000 0 0 0 0 0 1 0 0 0 0 0 0
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